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Let’s Practice!‘DraW"—r—\f\fbﬁLéWis dot structures|for each of the following molecules. Then, [draw dipc?iés]where

appropriate and determine the type(s) of intermolecular forces that exist between the molecules) h
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More Practice: Draw one EACH of the two compounds given in each example. Then, draw dipoles where appropriate
and determine the type(s) of intermolecular forces that exist between the molecules.
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1. What type of imermoleﬂnar OR intramolecular attractive forces must be overcome for each process beiow?
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More Practice!

'b_;u@ = LOFs (or dispertio, @f&wB
b. AlLOs(s) — 2 Al(s) +3/2 0,(g)
(;")erh'.(,a| c)qéhg,u = :I_t_/\_‘l‘[fWh\chq,» RWC:, D'JEfc,oh\ﬁ_
Type, = ilonic bend.

2. What is the predominant intermolecular force in CBr.?

London dispersion forces c. Dipole-dipole attraction e. lon-dipole attraction
b. lonic bonding d. Hydrogen bonding

3. Which one of the following derivatives of methane has the highest boiling point?

’@ CBra b. CCls & T d. CHa

4. Based on the molecular mass and dipole moment of the five compounds in the table below, which should have
the lowest vapor pressure?

Substance Molecular Mass (amu]  Dipole Moment (D)
Propane, CH3CH:2CH3 b 0.1
Dimethylether, CHs0CH; 46 1.3
Methvichloride, CHzCl 5@ 1.9
Acetaldehyde, CHsCHO 44 2.7
Acetonitrile, CHaCN 41 3.9

a. CH:CHaCH; b, CH:OCH: ¢ CHiCl  d. CHiCHO (‘e) CHaCN

5. Which of the following BEST explains why neopentane has the lowest boiling point?

Common ! ‘
. n-pentane isopentane neopentane
Name N
bt
HokoMOH M . ;, ! a-n
£ B K % # H I+ i o - - 2
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i + bt i L :“ -
Formula CsHiz CsHi CsHyz
Boiling Point ; 5
c 36.0 7.5 9.5

a. Neopentane is less polarizable due to having fewer electrons.
b. Neopentane is more polarizable due to having more electrons.
@ Neopentane has the shortest carbon chains and thus the least surface area.

d. Neopentane has the shortest carbon chains and thus the most surface area.



